ZESEE—LABO—- Rt
U2z1-A>U—X

=FEE
ERBIE T, BEiB

AND

A&D Weighing

ZE. NEBEST. BIFITHREE.
BE(CH U THEW,. 55k - EHE (MA) 2.

EIRBENROMEE =xsEscy.

B

U2z1-1L-A% 10N (1.020kg) 0.45mm 135Hz
U2z1-2L-A* 20N (2.039kg) 0.41mm 200Hz
U2Z1-5L-A% 50N (5.099kg) 0.36mm 250Hz
U2Z1-10L-A% 100N (10.20kg) 0.34mm 370Hz
U271-20L-A% 200N (20.39kg) 0.25mm 500Hz
U2Z1-50L-A% 500N (50.99kg) 0.23mm 820Hz
U2Z1-100L-A* 1kN (102.0kg) 0.21mm 1,210Hz
U2Z1-200L-A% 2kN (203.9kg) 0.20mm 1,400Hz
U271-500L-A* 5kN (509.9kg) 0.18mm 2,000Hz
IHH ne:
SRs~THER EARHE S 2.0394mV/V+0.15%
BE GG 500% of R.C.. 150% of R.C. (-200L-A, -500L-A)
U271-1L ~ 10L-A RSB & 500% of R.C.. 250% of R.C. (-200L-A, -500L-A)
walk=E 0.04% of R.0.. 0.07% of R.O. (-1L-A~-10L-A)
i ;3 2 HEBENNNEBE DC5~12V
o7 BAFMEE DC20V
r—7N EJAD S +1% of R.O.
3m AT 3500£3.50
2 L =Ly ST RS 350050
AM6 8 (| 20 ERIER 2,000MQI E/DC50V
( SREREEE -10°C~60°C
ERDREE 0.05% of R.0./10°C
HADBESE 0.05% of Load/10°C
T—JIkE/EE ¢7/3m
U271-20L ~ 100L-A e BRUTILZ
143 M10X1.25 WHEE - Bk 1P67
120 23 1.4kg (U2Z1-1L-A ~ -10L-A)
— He 1.7kg (U2Z1-20L-A ~ -100L-A)
27 HiE 2.6kg (U2Z1-200L-A ~ -500L-A)
< = 01| I | it 4 XX/EEEEuu_C?Q
0 Lhs b I N I
4-M8 10 (56) U271-1L-A¥ U2Z1-1L-A 4981046097635 ¥145,000
U271-2L-A% U2Z1-2L-A 4981046097703 ¥145,000
U271-5L-A% U2Z1-5L-A 4981046097765 ¥145,000
U271-200L . 500L-A U2z1-10L-A% U271-10L-A 4981046097604 ¥145,000
170 U271-20L-A% U271-20L-A 4981046097680 ¥170,000
PT1 2 W14 122 120 30 |M12x1.25 $31.5 U271-50L-A% U271-50L-A 4981046097741 ¥180,000
o7 N /(@75 U271-100L-A% U2Z71-100L-A 4981046097581 ¥180,000
7= N B =§§ U2Z1-200L-A% U2Z1-200L-A 4981046097659 ¥240,000
- WI | 4 3 U271-500L-A% U2Z1-500L-A 4981046097727 ¥240,000
LR
4-M10 %16/ |.30 90 15 0

=)L Fr:BE+ B:ER-

Hoh- ®: SR

Discover Precision




A2 3>

Ov hI>RRPZUZO(AZT/I\N=BILZvwvI)l)

ELy {4
__H ,K
[Fyrgs®
( I
|
|
\ -H !
; b
4 / 8 g | [e]
(O-FEILERfARY) J
Bf7=mm
AL, WBEO— Rl A | B D E | F oG H 1 ] K =
(kg)
5-0.5 U2Z1-1L ~ 10L-A 30 | 30 2824 8 | 16 5 | 8 | M&®E8 | 24 M5 0.3
51 U2Z1-20L ~ 100L-A | 25 | 30 | 36-31 | 14 26 | 10 | 13 | MSEI0 | 24 | M10x1.25 | 0.4
52 U2Z1-200L, 500L-A | 90 | 30 |39.5-29.5 16 34 | 12 | 15  M10%16| 30 | M12x1.25 | 0.5

F) 1LAFEENAE £5°
2. 8AFY MESDMIFIC DOV TIHEESREMNITLREETREOMITE T .

{i+g

JANJ—R |4§${ms (Bi4R)
S-0.5 S-0.5 4981046089623 ¥4,000
S-1 S-1 4981046616508 ¥4,500
S-2 S-2 4981046616515 ¥6,000

**—t - i -
AND G T—2b-57 e : - —
AL T170-0013  HUSCHR IR XM S3 T H23% 1453 N\ B2 EOTEER | @ CEROBRE. BEHPEE L BRSO L ELLBENES .

TEL.03—5391—61285£$22 FAX.03-5391-6129
WAL W2 M R A TEL.011-251-2753 (%) FAX.011-251-2759

Bl & % ¥ 7 TEL.022-211-8051 (ft) FAX.022-211-8052
W7 R E B ¥ AT TEL.028-610-0377 (fX) FAX.028-633-2166
W 50k B ¥ 7 TEL.048-592-3111 (f{) FAX.048-592-3117
W 50 ¥ T TEL.045-476-5231 (f{) FAX.045-476-5232
Wit [@ % ¥ A7 TEL.054-286-2880 (f%) FAX.054-286-2955
W 2 E ¥ TEL.052-726-8760 (f) FAX.052-726-8769
W B E ¥ FF TEL.06-7668-3900 (%) FAX.06-7668-3901
| /= :é.: 3 F7 TEL.082-233-0611 (f) FAX.082-233-7058

WiE [ % ¥ AT TEL.092-441-6715 (fX) FAX.092-411-2815
https;//www_ aandd.co. jP/ BRI EOA SO BETTSBERH0ET, ANIOJONE2024F6BREN 0T,
LT %U2Z1-A-ADIT-00-AD3-246000




